
(5)

GBS

96957 (Krom, Chrome)

30 mm

2,5 mm

15

24

25

19

23

9

16 18

17

20 21

8

6

5

7

4

2

3

1

32

14

35

34

33

22

37

38

36

26

13

10

31

30

29

28

27

12

11

34

6

22

20

22

20 9

2,5 mm

7



Art.No.Titel / TitleAnt/QtyPos.
98847Duschhandtag / Shower handle11

 Täckring för duschhandtag / Cover for shower handle12
 O-ring 32,99x2,6213
 Bas för duschhandtag "up" / Base for shower handle "up"14
 Packning 48x42x2,5 / Gasket 48x42x2,515
 Metallring 50x42,5x1 / Metal washer 50x42,5x126
 Fästmutter / Clamping nut27
 Bas för duschhandtag "ner" / Base for shower handle "down"18

98848Duschslang G½ (R15) x G⅜ (R10) / Shower hose G½ (R15) x G⅜ (R10) 29
 Täckhatt / Cover110
 Insexskruv M5x6 / Allen screw M5x6111
 Omkastarhandtag / Diverter handle112
 Basring / Base ring113
 Packning 44x27x2,5 / Gasket 44x27x2,5214

98846Omkastare / Diverter115
 Hylsa för vattenanslutning / Part for water connection116
 O-ring 12,42x1,78117
 O-ring 9,25x1,78118
 Omkastarhus / Diverter body119
 Gummitätning G¾ / Rubber packing ¾320
 Plugg G¾ (R20) / Plug G¾ (R20)121
 Gummipackning G½ (R15) / Rubber packing G½ (R15)422
 Omkopplare G½ (R15) - G⅜ (R10) / Reduction G½ (R15) - G⅜ (R10) 123
 O-ring 14x2124
 Omkastarinsats / Inserter125
 Anslutningsslang G¾ (R20) / G½ (R15) L:800 / Connection hose G¾ (R20) / 

G½ (R15) L:800
126

 Flödes / Termostathandtag / Flow / Thermostatic handle127
 Insexskruv M5x6 / Inox screw M5x6128
 Täckhatt / Cover129
 Täckring / Cover cartridge130
 Fästmutter tätningssats / Cartridge fixing nut131

98977Keramisk tätning / Ceramic cartridge132
 Basring / Base ring133
 Tätning 53x45x4 / Washer 53x45x4234
 Bas för termostat / Base for thermostat135
 Anslutningsslang / Connection hose M10x1 G½ (R15) L: 450136
 Anslutningsslang / Connection hose M10x1 G½ (R15) L: 450137
 Anslutningsslang / Connection hose M10x1 G¾ (R20) L: 400138

(6)


